Available online at http://scik.org Adv. Fixed Point Theory, 7 (2017), No. 3, 359-371 ISSN: 1927-6303

ON COMMON FIXED POINT OF A FUNCTION AND ITS DERIVATIVE

MOHAMAD MUSLIKH ^{1,*}, ADEM KILICMAN²

¹Department of Mathematics, University of Brawijaya, Malang 65144, Indonesia ²Department of Mathematics, Universiti Putra Malaysia, Serdang 43400, Malaysia

Copyright © 2017 Mohamad Muslikh and Adem Kilicman. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this article, we present a common fixed point of a function with its derivative function. The existence of common fixed point is shown through a pair of commutative, weakly commutative, and compatible mapping. This result is relatively new for the pair raised was between functions with their derivatives.

Keywords: fixed point; derivative; composition function.

2010 AMS Subject Classification: 47H10, 46G05, 30D05.

1. Introduction

The concept fixed point theorem for composition of derivatives have been investigated by Elekes [1], who gave an affirmative answer to a question of K. Ciesielski, which was asked whether the composition $f \circ g$ of two derivatives $f, g : [0, 1] \longrightarrow [0, 1]$ must always have a fixed point [2]. To be precise is theorem as follows

Theorem 1.1. Let $f, g : [0,1] \longrightarrow [0,1]$ be derivatives. Then $f \circ g$ has a fixed point.

^{*}Corresponding author

E-mail address: mslk@ub.ac.id

Received February 16, 2017

The results in [4] depicts interdependence between commuting mapping and the fixed point concept. The result in [1] and [4] are using the composition function concept to study the existence of fixed point or common fixed point. In this paper, we study common fixed point for two functions mutually dependent. For example, the function f with its derivatives.

Throughout this paper \mathbb{R} is the real number system, \mathbb{N} is natural number system, \mathbb{Q} is rational number system, and X is metric space with respective metric d. The composition function between f and g at a point x denotes f(g(x)), while f' is notation for derivative of function f.

Definition 1.1. The function $f : [a,b] \longrightarrow \mathbb{R}$ is called differentiable at point $c \in (a,b)$ if there exists real number f'(c) with property for each $\varepsilon > 0$ there exists $\delta > 0$ such that for all $x \in [a,b]$ with $|x-c| < \delta$ we have

(1)
$$\left|\frac{f(x)-f(c)}{(x-c)}-f'(c)\right|<\varepsilon.$$

Typically we write

(2)
$$\lim_{x \to c} \frac{f(x) - f(c)}{x - c} = f'(c).$$

Definition 1.2. Let $f, g : \mathbb{R} \longrightarrow \mathbb{R}$ be mappings. A point $x_0 \in \mathbb{R}$ is called coincidence point of f and g if $f(x_0) = g(x_0)$.

Definition 1.3. Two mappings $f, g : \mathbb{R} \longrightarrow \mathbb{R}$ are said to be commuting if

$$|f(g(x)) - g(f(x))| = 0,$$

for all $x \in \mathbb{R}$.

2. Preliminaries

In [6] introduces the concept of contraction mapping as extension of fixed point theorem that introduced by Meir and Keller [5], such as:

Definition 2.1. Let *f* and *g* be self maps of a metric space (X,d). Map *g* is said (ε, δ) -*f*-contraction if for every $\varepsilon > 0$ there exists $\delta > 0$ such that

i.
$$\varepsilon \le d(f(x), f(y)) < \varepsilon + \delta$$
 implies $d(g(x), g(y)) < \varepsilon$, and
ii. $g(x) = g(y)$ when $f(x) = f(y)$.

for all $x, y \in X$.

Relation commuting mappings have been the result in [6] the following.

Theorem 2.1.[6] If f is continuous self map of a complete metric space X and g is (ε, δ) -fcontraction which commutes with f, then f and g have a unique common fixed point in X.

Theorem 2.2.[3] Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be continuous. If there is $g : \mathbb{R} \longrightarrow \mathbb{R}$ and $k \in (0, 1)$ such that

i. f(g(x)) = g(f(x)), for all $x \in \mathbb{R}$ *ii.* $g(\mathbb{R}) \subset f(\mathbb{R})$ *iii* $|g(x) - g(y)| \le k |f(x) - f(y)|$, for all $x, y \in \mathbb{R}$.

then f and g have a unique common fixed point in \mathbb{R} .

Furthermore, Sessa in [8] generalized the commuting mapping as in the following. **Definition 2.2.** Two mappings $f, g : \mathbb{R} \longrightarrow \mathbb{R}$ are said to be weakly commuting if

$$|f(g(x)) - g(f(x))| \le |f(x) - g(x)|$$

for all $x \in \mathbb{R}$.

Note that the commuting mappings are weakly commuting but the converse is not necessarily true as is shown in [8].

Example 2.1. Let I = [0,1] be with usual metric. Define $f(x) = \frac{x}{2}$ and $g(x) = \frac{x}{2+x}$ for each $x \in I$. We have

$$|f(g(x)) - g(f(x))| = \left|\frac{x}{4+x} - \frac{x}{4+2x}\right| = \left|\frac{x}{(4+x)(4+2x)}\right|$$
$$\leq \left|\frac{x^2}{4+2x}\right| = \frac{x}{2} - \frac{x}{2+x} = |f(x) - g(x)|$$

for each $x \in I$. Pairs (f,g) is weakly commuting but not commuting, namely $|f(g(x)) - g(f(x))| \neq 0$ for all $x \in I$.

The following Theorem highlight the role of weakly commutative in producing common fixed point, which the result by Sessa.

Theorem 2.2. Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be a continuous mapping and $g : \mathbb{R} \longrightarrow \mathbb{R}$ satisfy

i. $|f(g(x)) - g(f(x))| \le |f(x) - g(x)|$, for all $x, y \in \mathbb{R}$ *ii.* $g(\mathbb{R}) \subset f(\mathbb{R})$

iii
$$|g(x) - g(y)| \le \psi(M(x, y), \text{for all } x, y \in \mathbb{R},$$

If there exists a $x_0 \in \mathbb{R}$ such that $\delta(O(x_0, \infty) < \infty$ then f and g have a unique common fixed point in \mathbb{R} .

More detail the notation $\psi(M(x, y) \text{ and } \delta(O(x_0, \infty)))$ can be seen in [8]. The next generalization was introduced by Jungck [4] as follows.

Definition 2.3.[4] Two mappings $f, g : \mathbb{R} \longrightarrow \mathbb{R}$ are said to be compatible if $\langle x_n \rangle$ is a sequence in \mathbb{R} such that $\lim_n f(x_n) = \lim_n g(x_n)$,

$$\lim_{n}|f(g(x_n)-g(f(x_n))|=0.$$

Note that weakly commuting mappings are compatible but the converse is not necessarily true as is shown in [4]

Example 2.2. Let $f, g : \mathbb{R} \longrightarrow \mathbb{R}$ with $f(x) = x^3$ and $g(x) = 2x^3$ Since $\lim_{x\to 0} |x^3 - 2x^3| = 0$ we have

$$\lim_{x \to 0} |f(g(x)) - g(f(x))| = \lim_{x \to 0} 6|x|^9 = 0.$$

The functions f,g is compatible but they are not weakly commuting pairs because $|f(g(x)) - g(f(x))| = 6|x|^9 > |x|^3 = |f(x) - g(x)|$.

The following Theorem highlights the role of compatibility in producing common fixed point, which is the result by Junck.

Theorem 2.3. [4] Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be continuous, and $g : \mathbb{R} \longrightarrow \mathbb{R}$ satisfy

- *i.* (ε, δ) -*f*-contraction
- ii. f and g are compatible

If δ is lower semi continuous, then f and g have a unique common fixed point.

The results in this article we need a definition of additive mapping.

Definition 2.4. A function $f : \mathbb{R} \longrightarrow \mathbb{R}$ is additive if it satisfies the Cauchy equation

$$f(x+y) = f(x) + f(y)$$

for all $x \in \mathbb{R}$.

362

Lemma 2.1. If an additive function $f : \mathbb{R} \longrightarrow \mathbb{R}$ is continuous at $x_0 \in \mathbb{R}$, then f is continuous for all point in \mathbb{R} .

Lemma 2.2. If $f : \mathbb{R} \longrightarrow \mathbb{R}$ is additive continuous at a point, then for all $r \in \mathbb{Q}$, f(rx) = rf(x) or f linear under rational number.

3. Main results

Commutative nature of the composition function described in the introduction is for a pair of functions which are not mutually dependent. If a pair of interdependence functions, then problem would be different, such as composition functions with its derivatives.

In the main result of this, one of which will be shown is commutative properties function of composition $f \circ f'$.

Proposition 3.1. Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be a differentiable on \mathbb{R} . If f is additive and f(f(x)) = f(x) for all $x \in \mathbb{R}$, then function f' commutes with f.

Proof. Since *f* additive, By Lemma 2.2, f(hx) = hf(x) for all $h \neq 0 \in \mathbb{Q} \subset \mathbb{R}$. Thus for all $x \in \mathbb{R}$ and $h \in \mathbb{Q}$ we obtain

$$\begin{split} f(f'(x)) &= f\left(\lim_{h \to 0} \frac{f(x+h) - f(x)}{h}\right) \\ &= \lim_{h \to 0} f\left(\frac{f(x+h) - f(x)}{h}\right) \\ &= \lim_{h \to 0} \frac{1}{h} \left(f(f(x)) + f(f(h)) - f(f(x))\right) \\ &= \lim_{h \to 0} \frac{1}{h} f(f(h)) \\ &= \lim_{h \to 0} \frac{1}{h} f(h). \end{split}$$

and

$$\begin{split} f'(f(x)) &= \lim_{h \to 0} \frac{f(f(x)+h) - f(f(x))}{h} \\ &= \lim_{h \to 0} \frac{f(f(x)) + f(h) - f(f(x))}{h} \\ &= \lim_{h \to 0} \frac{1}{h} f(h). \end{split}$$

Thus f(f'(x)) = f'(f(x)).

Example 3.1. The additive function $f : \mathbb{R} \longrightarrow \mathbb{R}$ that satisfies f(f(x)) = f(x) there are only two functions, namely f(x) = x and f(x) = -x. In this case, the role of commuting maps (f(f'(x)) = f'(f(x))) in producing common fixed point is very simple. The common fixed point x = 1 satisfies f'(1) = f(1) = 1 for function f(x) = x.

Uniqueness of the common fixed point shown in this the theorem.

Theorem 3.1. Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be a differentiable on \mathbb{R} satisfies

- A) f is additive, and
- B) f(f(x)) = f(x) for all $x \in \mathbb{R}$

If there exists a $x_0 \in \mathbb{R}$ such that $f'(x_0) = x_0$, then f and f' have a unique common fixed point $x_0 \in \mathbb{R}$.

Proof. According to Proposition 3.1 we have f(f'(x)) = f'(f(x)) for all $x \in \mathbb{R}$. Since $f'(x_0) = x_0$ for some $x_0 \in \mathbb{R}$, we obtain

$$f(x_0) = f(f'(x_0)) = f'(f(x_0))$$

= $\lim_{x \to f(x_0)} \frac{f(x) - f(f(x_0))}{x - f(x_0)}$
= $\lim_{x \to f(x_0)} \frac{f(x) - f(x_0)}{x - f(x_0)}$
= $\lim_{x \to x_0} \frac{f(x - x_0 + f(x_0)) - f(x_0)}{x - x_0 + f(x_0) - f(x_0)}$
= $\lim_{x \to x_0} \frac{f(x) - f(x_0)}{x - x_0}$
= $f'(x_0) = x_0.$

Thus x_0 is common fixed point. We show x_0 is unique. Suppose $x_0 = f(x_0) = f'(x_0)$ and $y_0 = f(y_0) = f'(y_0), x_0 \neq y_0$. Then with to use a derivative concept of (1) we obtained

$$|x_0 - y_0|^2 = (x_0 - y_0)^2 = x_0^2 - x_0y_0 - x_0y_0 + y_0^2 = (x_0 - y_0)x_0 + (y_0 - x_0)y_0$$
$$= x_0 - y_0 - (x_0 - y_0)y_0 + y_0 - x_0 - (y_0 - x_0)x_0$$

$$= f(x_0) - f(y_0) - (x_0 - y_0)f'(y_0) + f(y_0) - f(x_0) - (y_0 - x_0)f'(x_0)$$

$$\leq |f(x_0) - f(y_0) - (x_0 - y_0)f'(y_0) + f(y_0) - f(x_0) - (y_0 - x_0)f'(x_0)|$$

$$\leq |f(x_0) - f(y_0) - (x_0 - y_0)f'(y_0)| + |f(y_0) - f(x_0) - (y_0 - x_0)f'(x_0)|$$

$$< \frac{\varepsilon}{2}|x_0 - y_0| + \frac{\varepsilon}{2}|y_0 - x_0| = \varepsilon|x_0 - y_0|.$$

Since $\varepsilon > 0$ is arbitrary, $x_0 = y_0$.

The necessary condition of weakly commutative composition function is described by the following proposition.

Proposition 3.2. Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be a differentiable on \mathbb{R} . If f is additive and f(f'(x)) = f'(x) for all $x \in \mathbb{R}$, then f and f' are weakly commutative.

Proof. Since f is additive, we have

$$f'(f(x)) = \lim_{h \to 0} \frac{f(f(x) + h) - f(f(x))}{h}$$

=
$$\lim_{h \to 0} \frac{f(f(x)) + f(h) - f(f(x))}{h}$$

=
$$\lim_{h \to 0} \frac{1}{h} f(h)$$

and

$$f'(x) = \lim_{h \to 0} \frac{f(x+h) - f(x)}{h}$$
$$= \lim_{h \to 0} \frac{1}{h} f(h),$$

hence f'(f(x)) = f'(x) for all $x \in \mathbb{R}$. By hypothesis and the above result, for all $x \in \mathbb{R}$, we obtain $|f(f'(x)) - f'(f(x))| = |f'(x) - f'(x)| = 0 \le |f(x) - f'(x)|$. This completes the proof.

The requirement f(f'(x)) = f'(x) in Proposition 3.2 can fulfilled only if f(x) = x. Therefore, the Proposition 3.2 depicts that any commuting maps (fof') = (f'of) are special cases of weakly commutative.

A more general statement which depicts the existence an additive function where the composition function with its derivative has properties weakly commutative, such as the following propositions.

Proposition 3.3. Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be an additive with f(x) = cx and $c \neq 0$. If $|c| \leq 1$, then for each $x \geq \frac{1}{c}$, $x \in \mathbb{R}$ the composition f and f' are weakly commutative.

Proof. Clearly that f'(x) = c so that f'(f(x)) = f'(cx) = c and $f(f'(x)) = f(c) = c^2$. For each $x \in \mathbb{R}$ with $cx \ge 1$, we have $cx - c \ge 1 - c$. It follow that,

$$|f'(f(x)) - f(f'(x))| = |c - c^2| = |c||1 - c|$$

$$\leq |1 - c| = 1 - c \leq cx - c$$

$$\leq |cx - c| = |f(x) - f'(x)|.$$

for each $x \ge \frac{1}{c}$. Proved that the composition f and f' are weakly commutative.

Example 3.2. Let $I = [\frac{3}{2}, 3]$ be with usual metric. Define $f(x) = \frac{x}{2}$ for each $x \in I$. We obtain $f'(x) = \frac{1}{2}$ so $f(f'(x)) = f(\frac{1}{2}) = \frac{1}{4}$ and $f'(f(x)) = f'(\frac{x}{2}) = \frac{1}{2}$. Therefore, for each $x \in I$ we have $|f'(f(x)) - f(f'(x))| = \left|\frac{1}{4} - \frac{1}{2}\right| = \frac{1}{4}$ $\leq \frac{x-1}{2} \leq \left|\frac{x}{2} - \frac{1}{2}\right| = |f(x) - f'(x)|.$

Proposition 3.4. Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be an additive with f(x) = cx and $c \neq 0$.

- A) If c > 1 then for each $x \ge c$, $x \in \mathbb{R}$ the composition f and f' are weakly commutative.
- *B)* If c < -1 then for each $x \le c$, $x \in \mathbb{R}$ the composition f and f' are weakly commutative.

Proof. Clearly that f'(x) = c so f'(f(x)) = f'(cx) = c and $f(f'(x)) = f(c) = c^2$.

A) For each $x \ge c$ and c > 1 we have $cx - c \ge c^2 - c > 0$. It follow that

$$|f(f'(x)) - f'(f(x))| = |c^2 - c| = c^2 - c \le cx - c$$
$$\le |cx - c| = |f(x) - f'(x)|.$$

B) For each $x \le c$ and c < -1 we have $cx - c \ge c^2 - c > 0$. It follow that,

$$|f(f'(x)) - f'(f(x))| = |c^2 - c| = c^2 - c \le cx - c$$
$$\le |cx - c| = |f(x) - f'(x)|.$$

This completes the proof.

Remark 3.1. For the additive function f(x) = cx where $c \neq 0$ that its composition f and f' are weakly commuting depends on constant c and domain of function. This fact may can called as the local weakly commutative and they have not a common fixed point.

The following results provides a criterion of compatibility mapping between f and f' as in [4].

Proposition 3.5. Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be a continuously differentiable on \mathbb{R} . If $\lim_n f(x_n) = \lim_n f'(x_n) = x_0 \in \mathbb{R}$ such that x_0 is a common fixed point, then f and f' are compatible.

Proof. Suppose that $\lim_n f(x_n) = \lim_n f'(x_n) = x_0$ for some $x_0 \in \mathbb{R}$. By hypothesis $f(x_0) = f'(x_0) = x_0$. Since *f* is continuously differentiable, we obtain

$$\begin{split} \lim_{n} |f(f'(x_{n})) - f'(f(x_{n}))| &= |\lim_{n} f(f'(x_{n})) - \lim_{n} f'(f(x_{n}))| \\ &= \left| f(x_{0}) - \lim_{n} \left(\lim_{h \to 0} \frac{1}{h} \left[f(f(x_{n}) + h) - f(f(x_{n})) \right] \right) \right| \\ &= \left| f(x_{0}) - \lim_{h \to 0} \frac{1}{h} \left(\lim_{n} \left[f(f(x_{n}) + h) - h(f(x_{n})) \right] \right) \right| \\ &= \left| f(x_{0}) - \lim_{h \to 0} \frac{1}{h} \left(\lim_{n} f(f(x_{n}) + h) - h(f(x_{n})) \right) \right| \\ &= \left| f(x_{0}) - h(x_{0}) \right| \\ &= \left| f(x_{0}) - h(x_{0}) \right| \\ &= \left| f(x_{0}) - h(x_{0}) \right| \\ &= 0. \end{split}$$

Thus, f and f' are compatible.

Example 3.3. Suppose $f(x) = x^3$ for each $x \in \mathbb{R}$ that its derivative is $f'(x) = 3x^2$. They are compatible. Seem that $\lim_{x_n\to 0} f(x_n) = \lim_{x_n\to 0} f'(x_n) = 0$, where $x_0 = 0$ is a common fixed point of f and f'. It follow that $\lim_{x_n\to 0} |f(f'(x_n)) - f'(f(x_n))| = \lim_{x_n\to 0} |27x_n^6 - 3x_n^6| = \lim_{x_n\to 0} 24|x_n^6| = 0$.

The compatibility mapping of f and f' produces important properties, such as weakly compatible.

Proposition 3.6. Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be a continuously differentiable on \mathbb{R} and f, f' be a compatible. ble. If $f(x_0) = f'(x_0)$ for some $x_0 \in \mathbb{R}$, then $f(f'(x_0)) = f'(f(x_0))$.

Proof. For each $n \in \mathbb{N}$, the sequence of real numbers $x_n = x_0$. Of course the sequence $f(x_n) = f'(x_n)$ convergence to $f(x_0) = f'(x_0)$ by continuously differentiable. Since f and f' are compatible, we obtain $f(f'(x_0)) = f'(f(x_0))$.

Proposition 3.7. Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be a differentiable on \mathbb{R} and f, f' be a compatible. Then

- (a) $\lim_{x \to 0} f'(f(x_n)) = f(c)$, where $c \in \mathbb{R}$ is a point continuous of f.
- (b) If f' is a continuous at c then f(c) = f'(c) and f(f'(c)) = f'(f(c)).

Proof. To prove (a): Suppose that $\lim_n f'(x_n) = c \in \mathbb{R}$. Since f is differentiable at $c \in \mathbb{R}$ (hence continuous at c), we have $\lim_n f(f'(x_n)) = f(c)$. Then that

$$\lim_{n} |f'(f(x_n)) - f(c)| \le \lim_{n} |f'(f(x_n)) - f(f'(x_n))| + \lim_{n} |f(f'(x_n)) - f(c)| = 0$$

by the compatibility f and f'. This implies $\lim_n f'(f(x_n)) = f(c)$, where $c \in \mathbb{R}$ is a point continuous of f.

To prove (b): From (a) that $\lim_n f'(f(x_n)) = f(c)$. While, $\lim_n f'(f(x_n)) = f'(c)$ by the continuity of f' at c. Thus f(c) = f'(c) by uniqueness of limit. According to the Proposition 3.6, we have f(f'(c)) = f'(f(c)). This completes the proof.

There are fact interesting that the derivative of a function f satisfies properties (ε, δ) -fcontraction such as the following lemma.

Lemma 3.1. If $f : \mathbb{R} \longrightarrow \mathbb{R}$ is a differentiable on \mathbb{R} , then f' is (ε, δ) -f-contraction.

Proof. For each ε we choose $\delta(\varepsilon) = \frac{\varepsilon}{4} > 0$ such that $\frac{\varepsilon}{4} \le |f(x) - f(y)| < \frac{\varepsilon}{4} + \frac{\varepsilon}{4}$ for each $x \ne y \in \mathbb{R}$. Since *f* is differentiable (hence continuous) we have

$$\begin{split} |f'(x) - f'(y)| &= \left| \lim_{h \to 0} \frac{1}{h} (f(x+h) - f(x)) - \lim_{h \to 0} \frac{1}{h} (f(y+h) - f(y)) \right| \\ &= \lim_{h \to 0} \frac{1}{h} |f(x+h) - f(x) - f(y+h) + f(y)| \\ &\leq + \lim_{h \to 0} \frac{1}{h} |f(y) - f(x)| + \lim_{h \to 0} \frac{1}{h} |f(x+h) - f(y+h)| \\ &\leq |f(x) - f(y)| + (\frac{\varepsilon}{4} + \frac{\varepsilon}{4}) \\ &< 2(\frac{\varepsilon}{4} + \frac{\varepsilon}{4}) = \varepsilon. \end{split}$$

and If f(x) = f(y), then $f'(x) = \lim_{h \to 0} \frac{1}{h} (f(x+h) - f(x)) = \lim_{h \to 0} \frac{1}{h} (f(y+h) - f(y)) = f'(y)$. According to Definition 2.1, the function f' is (ε, δ) -f-contraction.

The following proposition is similar to Lemma 2.2 in [6] that applied on the pairs f and f'. This proposition describes the role of compatibility in producing common fixed points.

368

Proposition 3.8. Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be a differentiable on \mathbb{R} and the pairs of function f and f' is compatible. If there exists $z \in \mathbb{R}$ such that f(z) = f'(z) then the point $x_0 = f(z)$ is the unique common fixed point of f and f'.

Proof. By Lemma 3.1 for $x \neq y$, |f'(x) - f'(y)| < |f(x) - f(y)|. Let $x_0 = f(z)$ and suppose $x_0 \neq f(x_0)$. Since f and f'are compatible and f(z) = f'(z) for some $z \in \mathbb{R}$, we have f(f'(z) = f'(f(z))) by Proposition 3.6. Then we obtain

$$|x_0 - f(x_0)| = |f'(z) - f(f'(z))| = |f'(z) - f'(f(z))|$$

$$< |f(z) - f(f(z))| = |x_0 - f(x_0)|.$$

It follow that $x_0 = f(x_0)$. Similarly for $x_0 = f'(z)$ and suppose $x_0 \neq f'(x_0)$, we would obtained $x_0 = f'(x_0)$. Thus x_0 is a common fixed point of f and f'. Furthermore, we show that the point x_0 is unique. If x_1 were another common fixed point of f and f' we would have $|x_0 - x_1| = |f'(x_0) - f'(x_1)| < |f(x_0) - f(x_1)| = |x_0 - x_1|$. Thus $x_0 = x_1$ is unique.

Example 3.4. Let $f(x) = x^2 - x + 1$ for $x \in \mathbb{R}$. Then f'(x) = 2x - 1 and there exists the point z = 1 or z = 2 that are solution of f(z) = f'(z). The point $x_0 = 1$ is the common fixed point f and f' because f(1) = f'(1) = 1.

Proposition 3.8 above can be also viewed as a generalization of the result by Park and Bae ([6] Theorem 2) with replacing commutative requirements by compatible. In addition, the Proposition 3.8 does not mention explicitly the terms (ε, δ) -*f*-contraction because for these requirements automatically by Lemma 3.1.

In next the result the above we would present the other result in below. For these needed the notion the iteration as the following. Suppose that $f : \mathbb{R} \longrightarrow \mathbb{R}$ is differentiable. For a point $x_0 \in \mathbb{R}$ that be given, we consider a sequence $f(x_n)$ recursively given by rule $f(x_n) = f'(x_{n-1})$ for each $n \in \mathbb{N}$. Such a sequence is called an *iteration-f* of x_0 under f'.

Lemma 3.2 and Lemma 3.3 below just replacing function g by f' in [4] and [6].

Lemma 3.2. (Lemma 3.1 in [4]) Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be a differentiable on \mathbb{R} . If there exists an $x_0 \in \mathbb{R}$ and a sequence $f(x_n)$ is an f-iteration of x_0 under f', then $f(x_n)$ is a Cauchy sequence.

Lemma 3.3. (Lemma 2.1 in [6]) Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be a differentiable on \mathbb{R} . If there exists an $x_0 \in \mathbb{R}$ and a sequence $f(x_n)$ is an f-iteration of x_0 under f', then a sequence $|f(x_n) - f(x_{n+1})|$, $n \in \mathbb{N}$ is monotone decreasing to 0.

Now we have one main result that important.

Theorem 3.2. Let $f : \mathbb{R} \longrightarrow \mathbb{R}$ be a differentiable on \mathbb{R} . and the pairs of function f and f' is compatible. If a sequence $f(x_n)$ is an iteration-f of x_0 under f' with a limit point $p \in \mathbb{R}$, then $f(x_n)$ converges to p and f(p) is the unique common fixed point of f and f'.

Proof. By Proposition 3.8, it is sufficient to show f(p) = f'(p) for some point $p \in X$. Since a sequence $f(x_n)$ is an iteration-f of x_0 under f', if there exist for some $n \in \mathbb{N}$ such that $f(x_{n+1}) = f(x_n)$, then $f(x_{n+1}) = f'(x_n) = f(x_n)$, and here we are finished.

Now suppose that $f(x_{n+1}) \neq f(x_n)$ for each $n \in \mathbb{N}$ and a sequence $f(x_n)$ is Cauchy sequence by Lemma 3.2. Since $p \in \mathbb{R}$ is limit points of a sequence $f(x_n)$, it converges to p. Since the function f is differentiable on \mathbb{R} (hence f is continuous at p), sequence $f(f(x_n))$ converges to f(p). In addition, a sequence $f'(f(x_{n-1})) = f(f'(x_{n-1})) = f(f(x_n))$ converges to f(p) by compatibility and iteration-f of x_0 under f'. Suppose there exists $m \in \mathbb{N}$ such that

$$f(f(x_m)) = f(f(x_{m+1})) = f(f(x_{m+2})) = \dots = f(f(x_{m+k})) = \dots$$

Of course the sequence $f(f(x_n))$ converges to $f(f(x_m))$ and $f(f(x_m)) = f(f(x_{m+1})) = f(f'(x_m)) = f'(f(x_m))$ by compatibility and iteration-*f* of x_0 under *f'*. Hence $f(f(x_m)) = f(p)$ and $f(x_m) = p$ is a coincidence point of *f* and *f'* (i.e. f(p) = f'(p)). Thus we are done.

If there is no an index $m \in \mathbb{N}$ that satisfies $f(f(x_m)) = f(f(x_{m+1})) = f(f(x_{m+2}))...$, then for $\varepsilon > 0$ there exists $N \in \mathbb{N}$ such that for each $m \ge N$,

$$|f(f(x_m))-f(p)|<\frac{\varepsilon}{4}.$$

Suppose that there exists $n \ge N$ such that $f(f(x_n)) \ne f(p)$, we have

$$|f(p) - f'(p)| \le |f(p) - f(f'(x_n))| + |f(f'(x_n)) - f'(p)|$$

= $|f(p) - f(f(x_{n+1}))| + |f'(f(x_n)) - f'(p)|$
< $\frac{\varepsilon}{4} + |f(f(x_n)) - f(p)| < \frac{\varepsilon}{4} + \frac{\varepsilon}{4} < \varepsilon.$

Therefore f(p) = f'(p), and this completes the proof.

Conflict of Interests

The authors declare that there is no conflict of interests.

REFERENCES

- M. Elekes, T. Keleti, V. Prokaj, The Fixed Point of the Composition of derivatives, Real Analysis Exchange, 27 (1) (2001-2002), 131–140.
- [2] R. Gibson, T. Natkaniec, Darboux like Functions, Old Problem and new Results, Real Analysis Exchange, 24 (2) (1998-1999), 487–496.
- [3] G. Jungck, Commuting Mappings and Fixed Points, The American Mathematical Monthly, 83 (4) (1976), 261–263.
- [4] G. Jungck, Compatible Mappings and Common Fixed Points, Inter.J. Math.and Math. Sci. 9 (4) (1986), 771–779.
- [5] A. Meir, E. Keller, A Theorem on Cantraction mapping, J. Math. Anal. Appl. 2 (1969), 529–529.
- [6] S. Park, J.S. Bae, Extension of a fixed point theorem of Meir and Keeler, Ark. Mat. 19 (1981), 223–228.
- [7] B.E. Rhoades, S. Sessa, M.S. Kahn, M.D, Kahn, Some Fixed Point Theorems for Hardy-Rhoders type Mapping, Int. J. Math. Math. Sci. 7 (1) (1984), 75–87.
- [8] S. Sessa, On a Weak Commutativity Condition in Fixed Point Considerations, Publ, Inst. Math. 32 (46) (1982), 149–153.